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February 1, 2005

All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.

1. (6 points)  A gallon of ice cream contains exactly 32 servings and each serving has 165 Calories, of which 30.0% are derived from fat.  How many Calories derived from fat would you consume if you ate one liter of ice cream?

2.  (8 points) A new temperature scale has been developed in which the freezing point of water is 39oN and the boiling point of water is 138oN.  

a) What is the conversion factor to change N sized degrees into C sized degrees?

b) Convert 68oN into oC. 

3.  (6 points) Iodine has a lower atomic mass than tellurium (126.90 for iodine versus 127.6 for tellurium) even though it has a higher atomic number (53 for iodine versus 52 for tellurium).  Explain
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All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.

1. (6 points)  A gallon of ice cream contains exactly 32 servings and each serving has 185 Calories, of which 35.0% are derived from fat.  How many Calories derived from fat would you consume if you ate one liter of ice cream?

2.  (8 points) A new temperature scale has been developed in which the freezing point of water is 57oN and the boiling point of water is 172oN.  

a) What is the conversion factor to change N sized degrees into C sized degrees?

b) Convert 68oN into oC. 

3.  (6 points) Iodine has a lower atomic mass than tellurium (126.90 for iodine versus 127.6 for tellurium) even though it has a higher atomic number (53 for iodine versus 52 for tellurium).  Explain

